Ratio to ATLAS

d?o / d N"" d m™" [pb/iGeV]

=
o
N

[HEN
o
w

107

0.5

13000 GeV pp tt

T I T I T | T I T I T I T I T | T I T I T I T I i | ﬂ
3
— M(ttbar) (ATLAS semileptonic ttbar) 3
— -
- B ATLAS 1<
| --H3-- Herwig 7.2.1 default N
- ¢ Sherpa 2.2.0 default 413
—
L —™
©
=

— . ™ 7]
| I'. ‘\ 1 '6‘
L m ) 1S
{.~ ™
I o
! &
—
- — %
— 4.8,
— = BES
| El - <
— — N
S
- R
o
| | | | | | | | | | | | | E

: T T | T T T T | T T T T |:
— 2
1

- I R REREaEE £] ]

B R —— ' .

B : ¢ __________ ’ ..................... ) 0.5
1 1 | L 1 1 L 1 1 L | L 1 L 1 L 1 L 1 L |
1000 2000 3000

mtbar{t} [GeV], I\IeXtrajet — 1



	Contents
	Page 1


